
SAP ABAP table /RPM/DP_STATUS_N {Decision Point  Status:Next Possible Statuses}

_RPM_DP_STATUS_N

CLIENT [CLNT (3)]

ITEM_TYPE [CHAR (15)]

PHASE_ID [CHAR (15)]

STATUS [CHAR (5)]

STATUS_NEXT [CHAR (5)]

WORKFLOW_ID [CHAR (15)]

_RPM_DP_STATUS

CLIENT [CLNT (3)]

ITEM_TYPE [CHAR (15)]

PHASE_ID [CHAR (15)]

STATUS [CHAR (5)]

 /RPM/DP_STATUS_N-STATUS_NEXT = /RPM/DP_STATUS-STATUS 
0..N

1

_RPM_ITEM_PHASE

CLIENT [CLNT (3)]

ITEM_TYPE [CHAR (15)]

PHASE_ID [CHAR (15)]

 /RPM/DP_STATUS_N-PHASE_ID = /RPM/ITEM_PHASE-PHASE_ID 
0..N

1
_RPM_ITEM_TYPE

CLIENT [CLNT (3)]

ITEM_TYPE [CHAR (15)]

 /RPM/DP_STATUS_N-ITEM_TYPE = /RPM/ITEM_TYPE-ITEM_TYPE 
0..N1

_RPM_STATUS

CLIENT [CLNT (3)]

STATUS [CHAR (5)]

 /RPM/DP_STATUS_N-STATUS = /RPM/STATUS-STATUS 

{0,1}

1

_RPM_WF_ID

CLIENT [CLNT (3)]

WF_ID [CHAR (15)]

 /RPM/DP_STATUS_N-WORKFLOW_ID = /RPM/WF_ID-WF_ID 

0..N

1


